Selected parts of conversation

Odyssey copes: Problems in secondary mathematics

Challenge 23: Stars and circles

(See full conversation at odysseys2sense.com)

16446 Response to challenge, Score 3.053
The answer is pretty obvious: 2/3. There are 3 sides that are stars and could be facing up. On two of those three sides, there's a star on the other side. So the probability is 2/3. question: If it's this easy, surely I'm missing something. What is it?

16491 Review of 16446, Rating 3
I would disagree with you and state that it is 1/3. . . One out of three cards has a star on boh sides. .. but then that might be too easy too

17890 Review of 16446, Rating 3
But there's one star-star card and one star-circle card. Why isn't the obvious answer 1 out of 2 or 1/2? I agree that it's 2/3, but you haven't really explained very much. Try to explain like you would for your students. Give them a deep explanation that will convince them rather than just justify to yourself why it must be true. I think you de-value others' contributions when you state that the problem was easy. Same thing in a classroom; when you tell students that a concept or a problem is easy, two things happen: 1) Students who get the problem correct don't get the satisfaction of their correct response because it was "easy" 2) Students who don't get the problem feel stupid for not getting the correct response, which is a reason why students don't like math and think they are bad at it.
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16490 Response to challenge, Score 3.261
By using a tree graph to explain this answer I feel that the answer would be two parts. First, the percentage that you picked a card with a star is 2/3, so it’s about 66% if you round it up. The second part is what’s the probability that the card you have contains a star on both sides, and that probability would be ½, so in order to get our final answer, you must multiply ½ by 2/3 and then we have 2/6 which in reality is 1/3. I would say 1/3. EQ: So, could we look at this answer and just say that since there are three cards and only one of them have a star on both sides it’s 1/3? Would using that method always be correct?

16615 Review of 16490, Rating 3.5
I disagree with your first part in that the first card picked is actually 1/2 chance to pick a star because there are 6 sides and each side is equal circle and star. It's an interesting challenge because of the twist of having shapes on both sides of the cards. Thank you for the thought provoking response!

16624 Review of 16490, Rating 3.9, Score 0,-1.5,1
I think the probability that the hidden side of the chosen card also contains a star is 2/3

17710 Critique of 16624, Rating -2,-1,2
Can you please explain your rationale for giving such a high rating to a response whose answer you think is unacceptable? I don't find the comment helpful. It reminds me of telling a student his/her answer is wrong with only the justification that it doesn't agree with yours.
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16614 Response to challenge, Score 2.534
The bag has 3 cards but has 6 sides. Each side has equal chance of coming up when laid flat on the table. So when the card is laid down and the star is showing. There is only a 1/2 chance for the hidden side to contain a star. I think overall for that card to to be chosen star/star would be 1/4. (1/2 *1/2) So I think for the star/circle , if it is face up star, (1/2), the chances it could be a circle is (1/3) so together is (1/6). EQ: What is the probability of getting a star if you swapped cards after choosing a card?

17716 Review of 16614, Rating 1.4
I'm very confused. You say the probability of star/star is 1/4 and then you say the probability of star/circle is 1/6. Since you know there's a star facing up, shouldn't the two probabilities add to 1? I agree that the six sides are equally likely. But I don't think you can multiply probabilities like this. If the events are independent you can multiply probabilities, but I don't see that these events are independent.

18325 Review of 16614, Rating 3.4, Score 0.248,0.248,0.248
Initially I also thought that the probability of star showing up on the hidden side is ½ . However, now I am convinced that the probability is 2/3. ¼ (1/2 *1/2) can be the answer if we had asked a question like what is the probability that first card has a star and second card also has a star. Our case is conditional probability, that is they have given a event that had happened already and asking what would be the probability of the other event. Therefore, we should think about P (A/B) = P (A and B)/p (B)) where P(A) is the probability of getting star face up and p(B) is the probability getting a star on the hidden side. As you said there are 6 out comes, P (A and B) is 1/3 P(A/B) = 1/3 divided by 3/6 = 2/3 Hope I confused you more!
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16652 Response to challenge, Score 2.148
The question of what is probability hidden side contain a star, we need to count number faces of star of whole event which is three faces of star and three faces of circle. Now if one face of star is up the answer of what is probability of hidden face to be a star is 2/5 which is 40%. What is probability of hidden face to be circle?

18423 Review of 16652, Rating 1.8, Score 0.488,0.488,0.488
What information can you eliminate at this point in time? In other words, if a star is face up are all cards still possible? How does narrowing down your sample space change your probability?

18310 Critique of 17911, Rating 2,2,2, Score 0.716,0.716,0.716
I think this reviewer is asking some very important questions, regardless of what the "true" answer to the problem is. The original responder was brief in their explanation, so it begs us to ask about the details that seem to be missing. I don't know how the original responder ended up with 5 choices either, and I would also like to know how they came up with that. These good questions are examples of what we should be asking our students, and if we are teaching them good questioning skills, we should be prepared for them to ask us the same kinds of questions as well. Therefore, we as teachers should try to prepare our explanations to these problems a bit better in order to answer some questions before they are even asked. Also, through those explanations, a lot more extension questions can be asked.
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17018 Response to challenge, Score 3.176
There are three possible stars that the one facing up could be. One of the stars has a circle on the other side while the other two stars have each other on their backs. There for the probability is 2/3 of the time there will be a star on the back. Extension Question? What if there were more cards?

17756 Review of 17018, Rating 3.5
I understand your answer now that we've completely exhausted this problem in how many different ways with how many different "items" in class. If I were seeing this problem for the first time and reading the explanation, I would honestly have no idea what you were talking about when you state that each star card has a star on the back so that makes two possibilities there. My gut reaction would say, there is only 1 star/star card; how can it make two different answers? I like the extension question but how can you further it or add more extension for students? What if you had more cards, what if you introduced a new shape into the mix, could you tell the probability knowing how many cards there are with how many symbols (i.e. write a rule to represent this?) Nice job.

17885 Critique of 17756, Rating 2,2,2, Score 0.488,0.488,0.488
I agree; I would like more explanation. Interesting addition to the extension question. If we knew how many cards with the # of symbols, could we find a rule? I like it!
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18114 Response to challenge, Score 3.25
This problem is a bit tricky because you have two cards you can chooose from, but the key is that the number of possible stars is 3. If one star is already up, the probability that the star is from the double star card is 2/3 then since there are 3 stars and 2 of them are on the double star card. Ex. Q Why is probability so counter-intuitive?

21017 Review of 18114, Rating 3.6, Score 1.108,1.108,1.108
I don't think you extension question is entirely fair. Probability is not ALWAYS counter-intuitive. 1 red marble out of a bag of 4 marbles is not so counter-intuitive. I think it's when we try to use probability to predict complex outcomes of situations that we might have to adjust our intuition by becoming more familiar with the situation. Perhaps some experimenting or modelling can help.

18196 Review of 18114, Rating 4
I like your explanation, but I just realized something. The card is already picked, right? So the chance that the other side contains a star or circle is 0 or 1. We don't know which, but it's already decided. What does anyone else think of that?

21013 Critique of 18196, Rating 2,2,2, Score 0.924,0.924,0.924
I think you might be on to something. I remember a similar situation with a quarter that has already been flipped. So the probability of heads is either 0 or 1, we just don't know which one it is. So now I'm wondering if maybe probability is best thought of as an averaging of the equally likely possible outcomes. The 0 carries just as much weight as the 1 in the example of a quarter, so we need to average 0 and 1. Now with the cards, do we need to average 0, 1, and 1? Two ones because there are two ways that there is certainly a star underneath. Is this another way to explain why it should be 2/3?

Selected parts of conversation

Odyssey copes: Problems in secondary mathematics

Challenge 23: Stars and circles

(See full conversation at odysseys2sense.com)

16445 Response to challenge, Score 2.667
Silly question. The probability is obviously 1/2. A star is showing, so obviously the circle-circle card didn't come up. The other two cards are equally likely. So the chance is 1/2 that you got the star-star card. EQ: Why is this challenge so easy?

16447 Review of 16445, Rating 2, Score 1.75,-1.5,-0.5
I got 2/3. I think your answer is unacceptable. But your explanation looks reasonable. So one of us is wrong. Or could there be two right answers? Nah.

17945 Critique of 16447, Rating 2,-1,1, Score 0.488,0.488,0.488
I think this rating is fair but not hepful at all. Why didn't you try to explain how you got 2/3 so they understand why you disagree with their answer? I have seen answers of 1/2, 1/3, and 2/3 for this problem so I definitley think there could be more than one answer depending on how you look at it. The problem I see with this response is there is little justification and the extension question is really an extension of the problem it just is a response to what they think about the problem. So I would have given a similar rating as this but would have provided some rationale as to why I gave the rating instead of saying "your explanation looks reasonable" and then go on to say one of you is wrong... I guess that was your justification on the low score. I wouldn't get anything out of your response if it was my posting.

17981 Critique of 17945, Rating 2,2,2
The one thing I'm not sure of about this critique is the claim that "there could be more than one answer depending on how you look at it." I don't see that the question is ambiguous, but maybe I've missed something. I'd very much like to see your opinion about which way of interpreting leads to which answer. So often the "it depends" approach is an attempt to be nice--sort of "everybody's got a right to their own opinion" even when the facts rule out many of those opinions.

17828 Review of 16445, Rating 2, Score 2,-2,-2
Wow, way to make yourself look silly! It's enjoyable when somebody makes fun of a problem, not understanding the depth.

18190 Critique of 17828, Rating 2,-2,-2, Score 1.192,1.192,1.192
While I think your critique is accurate, I didn't find it helpful or civil. You are going to encounter students who are bent on knowing that the answer is something specific and you can't look at them and say, "wow, way to make yourself look silly!". You might get fired or at least complained about by their parent. Take the time to show them how their problem isn't on the right track and where they made some wrong turns or even ask provoking questions to help them think about the problem in another way. They may figure out that they were wrong all on their own then and won't feel as though you berrated them in front of their peers.

